No

PCH-2
l [ 1]
Ll R L+
[0/min]| [m/s] l i
[ 1 L1711 [ 1 |[kPasm]| T[kpal
33| 1.1] 80 73.00]% 118.15] 0.295]  34.85
0.63| 3| 1.89\ 45.15
9 3.00| 14| 42.00
0.63] 2| 1.2
266/ 0.9 80 4.20[v 5.0 0.192 0.98
90 0.90] 1| 0.9 )
198 0.9] 65 3.70[v 445 0.257 1.14
90 0.75| 1| 0.75 )
135 1.0 50 3.70 }, 4.30| 0.427 1.84
90 0.60| 1| 0.60 )
72| 0.9 40 40.50 47.25| 0.410]  19.37
90 0.45| 1| 0.45\ 6.75
0.30 0.30
90 1.50| 4| 6.00
66 0.8 40 3.20[%  3.65 0.349 1.27
90 0.45] 1| 0.45 )
17.65 )
4l 0.2] 20 2.70 7.20| 0.050 0.36
90 0.75| 5 3.75‘> 4.50
0.75| 1| 0.75/)
72| 0.9] 40 25.70 |\  32.00| 0.410 13.12
90 1.50] 3| 4.50% 6.30
1.50] 1] 1.50
0.30] 1] 0.30
336 1.1] &0 37.70 59.33| 0.295|  17.50
90 3.00] 7| 21.00 21.63
0.63 1| 0.63))
[kPa] 108.08
(FCU-2) [kPa] 13.73
( ) [kPa] 9.81
[kPa]
[kPa]
[kPa]
[kPa] 131.62
1.10
[ 1] 14.76




No

SYOUKA
I [
L+1 a 1
[0/min]| [m/s] I
. [ (1 11 11 [ 1]
260| 1.2| 65 11.50 41.30| 3.131]  1.293
90 2.00| 4|  8.00 29.80
90 4.10] 1| 4.0
0.40| 1| 0.40
5.60| 1| 5.60
0.40| 1| 0.40
11.30| 1| 11.30
130| 1.0 50 20.50 25.30| 2.929|  0.741
90 1.60| 1 1_60} 4.80
3.20] 1| 3.20/
130| 1.0 50 1.70 3.30| 2.929|  0.097
90 1.60 1| 1.60
(D 2.131

2.1




No

[ 2]PCH-2
Ne Il:zl:[;)l ';)r R(L+L™)
+K)+ 1"
[0/min] [m/s]
L [ [1 [ 1 eaml kel

[ 11A B 33 1.1 80 — 73.00 % 118.15 0.295 34.85
—

[ 21 oY .63 3 1.89\ 45.15
=3

[ 3] ygo .00 14  42.00

[ 4] .63 2 1.26

[ 5]

[ 61B C 266 0.9 80 — 4.20 5.10 0.192 0.98
—_

[ 71 2L, 90 90 1 0.90
e

[ 8]

[ 91C D 198 0.9 65 s— 3.70 4.45 0.257 1.14
—_

[ 10] I, 90 75 1 0.75
e

[ 11]

[ 12]D E 135 1.0 50 s— 3.70 4.30 0.427 1.84
—_

[ 131 I 90 .60 1 0.60
e

[ 14]

[ 15]1E F 72 0.9 40 +— 40.50 47.25 0.410 19.37
—_

[ 16] I, 90 45 1 0.45\ 6.75
P

[ 171 oW .30 1 0.30
=3

[ 18] ygo .50 4 6.00

[ 19]

[ 201F G 66 0.8 40 — 3.20 3.65 0.349 1.27
—

[ 21] I, 90 45 1 0.45
e

[ 22]

[ 2316 0Q 17.65( )

[ 24]

[ 2510 R 4 0.2 20 +— 2.70 7.20  0.050 0.36
—

[ 26] JT 90 .75 5 3.75\ 4.50

[ 271 75 1 0.75

[ 28]

[ 29]1R S 72 0.9 40 — 25.70 32.00 0.410 13.12
—

[ 30] ygo .50 3 4.50\ 6.30

[ 31] 50 1 1.50

[ 32] Gy .30 1 0.30
=3

[ 331

[34]S T 336 1.1 80 — 37.70? 59.33 0.295 17.50
—_




No

[ 27]PCH-2
No L+L"+ I "or R(L+L™)
) ) LQ+K)+ 1"
[0/min] [m/s] [ ] [ ] [ ] [kPa/n] [kPa]
[ 35] y 90 3.00 7 21.00\21.63
[ 36] ] 0.63 1 o.eJ J
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